DEPENDENT CLAUSE

Clauses, primarily dependent clauses and their types can make
every English learner jittery if they are not explained adequately.
Edulyte’s English language test trainers spend considerable time
and resources breaking down the concept of a dependent
clause into easy-to-understand segments. So go ahead and
supercharge your writing skills through their expertise!
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Q1: Choose the dependent clause from the following.

A: 1 will go to the park.

B: Because it was raining.

C: She bought a new car.

D: He finished his work early.

Q2: Which of the following is a subordinating conjunction to introduce
a dependent clause?

A: And
B: But

C: Because
D: Or

Q3: Choose an adjective clause from the following:

A: She bought a new car.

B: | saw a bird flying in the sky.

C: The book that | borrowed is very interesting.

D: He went to the store and bought some groceries.

Q4: Choose the dependent clause from the following:

A: She ran the marathon.

B: Because he was tired.

C: They won the game.

D: I need to finish my homework.

Q5: Choose an example of a noun clause.

A: She loves to dance.

B: They believe that she will win.
C: He ran as fast.

D: The dog barked loudly.

https://www.edulyte.com/english/dependent-clause


https://www.edulyte.com/english/dependent-clause

cEIn
Q6: Which of the following is a subordinating conjunction?

A: And

B: But

C: Because
D: Or

Q7: Choose the adverbial clause.

A: She likes ice cream.

B: He arrived late to the party.

C: Because it was raining, they stayed indoors.
D: The dog barked loudly.

Q8: Choose an example of an adjective clause.

A: She bought a new car.

B: | saw a bird flying in the sky.

C: The book that | borrowed is very interesting.

D: He went to the store and bought some groceries.

Q9: Choose an example of an independent clause.

A: She danced gracefully.

B: Because it was raining.

C: While they were talking.
D: Although he studied hard.
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Answers

Q1

Q2:
Q3:
Q4:
Q5:
Qé6:
Q7:
Qs:
Qo:

: B - Because it was raining.

C - Because

C - The book that | borrowed is very interesting.
B - Because he was tired.

B - They believe that she will win.

C - Because

C - Because it was raining, they stayed indoors.
C - The book that | borrowed is very interesting.

A - She danced gracefully.
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